PRACTICE 1A

1.

Find the missing number in each of the following:

(a) B +25 =40 b) 23 -l =6
() [ + 17 =56 (d) 43 — [ = 21
(e) 58 + il = 72 f) Bl -79=11
(g) 46 + [l = 100 (h) B - 18 = 54
() B +25=100 () 100 - [ = 93
(k) 63 + [l = 100 () 100 — [ = 57

Find the value of each of the following:

(@ 100-38  (b) 100-99 () 100 — 98
(d) 100 — 4 (e) 100 -9 (f) 100 -3

A farmer had 215 ducks.
After selling some of them, he had 36 ducks left.
How many ducks did he sell?

Mr. Brown bought a fan for $127.
He had $53 left.

How much money did he have at first?

A cabbage weighs 324 g.

A cucumber weighs 86 g less than the cabbage.
(@) What is the weight of the cucumber?

(b) Find the total weight of the cabbage and the

cucumber. N
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